Name: _________________________________________ Class:_________ Date:____________M
6th Unit 4: Decimal Operations Performance Task

Part A: Peter went shopping for a new winter coat. The sale price of the coat was $160.00 after a 20% discount. What was the original price of Peter’s winter coat?
Show your work:











Answer: ____________________________________________________
Part B: Peter’s friend, Paul, also purchased a new winter coat.  Paul’s coat originally cost $210.75.  Paul used a 25% off coupon.  
Show your work:











Answer: ____________________________________________________
Part C: Peter said that he found a better deal than Paul did.  Who found a better deal on the winter jacket, Peter or Paul? 
Answer:_____________________________________________________

How do you know? ________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________
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